



FIXED POINT THEOREM FOR WEAKLY CONTRACTIVE MAPS IN METRICALLY CONVEX SPACES

Ladlay Khan¹ and Mohammad Imdad²

¹Department of Mathematics, Mewat Engineering College (Waqf)
Palla, Nuh, Mewat, India
e-mail: kladlay@gmail.com

²Department of Mathematics, Aligarh Muslim University
Aligarh, India
e-mail: mhimdad@yahoo.co.in

Abstract. A fixed point theorem for weakly contractive mappings is proved which satisfy a generalized contraction condition on a complete metrically convex metric space. The result in this paper generalizes the relevant results due to Rhoades [13], Alber and Guerre-Delabriere [2] and others. An illustrative example is also furnished in support of our result.

1. INTRODUCTION

There are many results on fixed point theorems for self mapping of a Banach space. In this direction Banach Contraction Principle is one of the celebrated theorem. This theorem is widely considered as a source of metric fixed point theory. Significantly, it has huge applications not only in metric fixed point theory but in different areas of mathematical research. For the sake of completeness here we mentioned this celebrated theorem.

Let (X, d) be a complete metric space and let $T : X \rightarrow X$ satisfy the contraction condition:

$$d(Tx, Ty) \leq kd(x, y), \quad (1.1)$$

for all $x, y \in X$, where $0 \leq k < 1$. Then T has a unique fixed point.

There exists a various extension and generalisation of the above said theorem, here we mentioned a few, we cite [5]-[9].

⁰Received March 3, 2016. Revised June 14, 2016.

⁰2010 Mathematics Subject Classification: 49J40, 47H10, 47H17.

⁰Keywords: Metrically convex metric space, weakly contractive mappings.

Recently, Alber and Guerre-Delabriere [2] coined the concept of weakly contractive maps and obtained fixed point results in Hilbert space for self mappings. Rhoades [13] extended some of their works to Banach spaces for the same setting.

However, in many applications the mappings involved is not always a self map. So, it is interested to find sufficient conditions for which such mappings will guarantee the existence of a fixed point. Assad and Kirk [4] initiated the study of fixed point of nonself mappings in metrically convex spaces. The technique due to Assad and Kirk [4] has been utilized by many researchers and there exists considerable literature on this topic. To mentioned a few, we cite [3,4,10,11,12,14].

In this paper, we prove a fixed point theorem for single valued nonself mappings by utilizing the idea of Rhoades [13] which either partially or completely generalize the results due to Rhoades [13], Alber and Guerre-Delabriere [2] and others. Here, we state the result of Rhoades [13] which runs as follows:

Theorem 1.1. *Let (X, d) be a complete metric space, T a weakly contractive map. Then T has a unique fixed point p in X .*

Definition 1.2. Let K be a nonempty subset of a metric space (X, d) . A mapping $T : K \rightarrow X$ is said to be weakly contractive if $Tx \in K, Tx \cap K$ is nonempty and $d(Tx, Ty) \leq d(x, y) - \phi(d(x, y))$ where $\phi : [0, \infty) \rightarrow [0, \infty)$ is continuous and nondecreasing function with $\phi(t) = 0$ iff $t = 0$.

Definition 1.3. ([4]) A metric space (X, d) is said to be metrically convex if for any $x, y \in X$ with $x \neq y$ there exists a point $z \in X, x \neq z \neq y$ such that

$$d(x, z) + d(z, y) = d(x, y).$$

2. RESULT

Our result is proved for single valued nonself mappings for weakly contractive maps.

Theorem 2.1. *Let (X, d) be a complete metrically convex metric space and K be a nonempty closed subset of X . Let $T : K \rightarrow X$ satisfying:*

(i) *for each $x \in \delta K, Tx \in K$, and*

$$d(Tx, Ty) \leq d(x, y) - \phi(d(x, y)) \tag{2.1}$$

where $\phi : [0, \infty) \rightarrow [0, \infty)$ is continuous and nondecreasing function with $\phi(t) = 0$ iff $t = 0$.

Then T has a unique fixed point in K .

Proof. Firstly, we proceed to construct two sequences $\{x_n\}$ and $\{y_n\}$ in the following way. Let $x_0 \in K$. Define $y_1 = Tx_0$. If $y_1 \in K$ set $y_1 = x_1$. If $y_1 \notin K$, then choose $x_1 \in \delta K$ so that

$$d(x_0, x_1) + d(x_1, y_1) = d(x_0, y_1).$$

If $y_2 \in K$ then set $y_2 = x_2$. If $y_2 \notin K$, then choose $x_2 \in \delta K$ so that

$$d(x_1, x_2) + d(x_2, y_2) = d(x_1, y_2).$$

Thus, repeating the foregoing arguments, one obtains two sequences $\{x_n\}$ and $\{y_n\}$ such that

- (ii) $y_{n+1} = Tx_n$,
- (iii) $y_n = x_n$ if $y_n \in K$,
- (iv) If $x_n \in \delta K$, then $d(x_{n-1}, x_n) + d(x_n, y_n) = d(x_{n-1}, y_n)$, where $y_n \notin K$.

Here, one obtains two types of sets we denote as follows:

$$P = \{x_i \in \{x_n\} : x_i = y_i\} \text{ and } Q = \{x_i \in \{x_n\} : x_i \neq y_i\}.$$

One can note that if $x_n \in Q$ then x_{n-1} and $x_{n+1} \in P$.

We wish to estimate $d(x_n, x_{n+1})$. Now we distinguish the following three cases.

Case 1. If x_n and $x_{n+1} \in P$, then

$$\begin{aligned} d(x_n, x_{n+1}) &= d(Tx_{n-1}, Tx_n) \leq d(x_{n-1}, x_n) - \phi(d(x_{n-1}, x_n)) \\ &\leq d(x_{n-1}, x_n), \text{ (using monotone property of } \phi \text{ function).} \end{aligned}$$

Case 2. If $x_n \in P$ and $x_{n+1} \in Q$, then

$$d(x_n, x_{n+1}) + d(x_{n+1}, y_{n+1}) = d(x_n, y_{n+1}).$$

Therefore

$$\begin{aligned} d(x_n, x_{n+1}) &\leq d(x_n, y_{n+1}) = d(Tx_{n-1}, Tx_n) \leq d(x_{n-1}, x_n) - \phi(d(x_{n-1}, x_n)) \\ &\leq d(x_{n-1}, x_n), \text{ (as in Case 1).} \end{aligned}$$

Case 3. If $x_n \in Q$ and $x_{n+1} \in P$. Since $x_n \in Q$ and is a convex linear combination of x_{n-1} and y_n , it follows that

$$d(x_n, x_{n+1}) \leq \max\{d(x_{n-1}, x_{n+1}), d(y_n, x_{n+1})\}.$$

If $d(x_{n-1}, x_{n+1}) \leq d(x_{n+1}, y_n)$, then

$$\begin{aligned} d(x_n, x_{n+1}) &\leq d(x_{n+1}, y_n) = d(Tx_{n-1}, Tx_n) \\ &\leq d(x_{n-1}, x_n) - \phi(d(x_{n-1}, x_n)) \\ &\leq d(x_{n-1}, x_n), \text{ (using monotone property of } \phi \text{ function).} \end{aligned}$$

Otherwise if $d(x_{n+1}, y_n) \leq d(x_{n-1}, x_{n+1})$, then

$$\begin{aligned} d(x_n, x_{n+1}) &\leq d(x_{n-1}, x_{n+1}) = d(Tx_{n-2}, Tx_n) \\ &\leq d(x_{n-2}, x_n) - \phi(d(x_{n-2}, x_n)) \\ &\leq d(x_{n-2}, x_n). \end{aligned}$$

Notice that

$$\begin{aligned} d(x_{n-2}, x_n) &\leq d(x_{n-2}, x_{n-1}) + d(x_{n-1}, x_n) \\ &\leq \max\{d(x_{n-2}, x_{n-1}), d(x_{n-1}, x_n)\}. \end{aligned}$$

Here, if $d(x_{n-2}, x_{n-1}) \leq d(x_{n-1}, x_n)$, then $d(x_n, x_{n+1}) \leq d(x_{n-1}, x_n)$. Otherwise, if $d(x_{n-1}, x_n) \leq d(x_{n-2}, x_{n-1})$, then $d(x_n, x_{n+1}) \leq d(x_{n-2}, x_{n-1})$. Thus in all the cases, we have

$$d(x_n, x_{n+1}) \leq \max\{d(x_{n-1}, x_n), d(x_{n-2}, x_{n-1})\}.$$

It follows that the sequence $\{d(x_n, x_{n+1})\}$ is monotonically decreasing. Hence $d(x_n, x_{n+1}) \rightarrow 0$ as $n \rightarrow \infty$.

Now, we prove that the sequence $\{x_n\}$ is a Cauchy sequence. Let on contrary that the sequence $\{x_n\}$ is not Cauchy. Then there exists $\epsilon > 0$ for which we can find subsequences $\{x_{n_k}\}$ and $\{x_{m_k}\}$ such that $d(x_{m_k}, x_{n_k}) \geq \epsilon$.

Further, corresponding to each $m(k)$, we can find $n(k)$ in such a way that the smallest positive integer $n(k) > m(k)$ satisfying $d(x_{m_k}, x_{n_{k-1}}) < \epsilon$. Now we have

$$\epsilon \leq d(x_{m_k}, x_{n_k}) \leq d(x_{m_k}, x_{n_{k-1}}) + d(x_{n_{k-1}}, x_{n_k}) < \epsilon + d(x_{n_{k-1}}, x_{n_k}).$$

On letting $k \rightarrow \infty$, we have $d(x_{m_k}, x_{n_k}) = \epsilon$. Again,

$$d(x_{n_k}, x_{m_k}) \leq d(x_{n_k}, x_{n_{k-1}}) + d(x_{n_{k-1}}, x_{m_{k-1}}) + d(x_{m_{k-1}}, x_{m_k})$$

whereas

$$d(x_{n_{k-1}}, x_{m_{k-1}}) \leq d(x_{n_{k-1}}, x_{n_k}) + d(x_{n_k}, x_{m_k}) + d(x_{m_k}, x_{m_{k-1}}).$$

Now on letting $k \rightarrow \infty$ in the above inequalities, one obtains,

$$\lim_{k \rightarrow \infty} d(x_{n_{k-1}}, x_{m_{k-1}}) = \epsilon.$$

By setting $x = x_{m_{k-1}}$ and $y = x_{n_{k-1}}$ in (2.1), we obtain,

$$\epsilon \leq d(x_{m_{k-1}}, x_{n_{k-1}}) - \phi(d(x_{m_{k-1}}, x_{n_{k-1}})).$$

On letting $k \rightarrow \infty$, we have $\epsilon > 0$, which is a contradiction. Thus the sequence $\{x_0, x_1, x_2, x_3, \dots, x_{n-1}, x_n, x_{n+1}, \dots\}$ is Cauchy and hence convergent.

Let $x_n \rightarrow z$ as $n \rightarrow \infty$. Substituting $x = x_{n-1}$ and $y = z$ in equation (2.1) we obtain

$$d(Tz, x_n) \leq d(z, x_{n-1}) - \phi(d(x_{n-1}, z)).$$

Letting $n \rightarrow \infty$ and using continuity of ϕ , we have,

$$d(Tz, z) \leq 0 - \phi(0),$$

implying thereby $Tz = z$. This shows that z is a fixed point of T . To prove that the uniqueness of fixed points.

Let us suppose that z_1 and z_2 are two fixed points of T . Then

$$\begin{aligned} d(Tz_1, Tz_2) &\leq d(z_1, z_2) - \phi(d(z_1, z_2)) \\ \Rightarrow d(z_1, z_2) &\leq d(z_1, z_2) - \phi(d(z_1, z_2)) \\ \Rightarrow \phi(d(z_1, z_2)) &\leq 0, \end{aligned}$$

implying thereby $z_1 = z_2$. This shows the uniqueness of fixed point. □

Remark 2.2. By setting $K = X$ in Theorem 2.1, one deduces a theorem due to Rhoades [13].

Remark 2.3. By setting $K = X$ in Theorem 2.1, one deduces a partial generalization of theorem due to Alber and Guerre-Delabriere [2].

Corollary 2.4. *Let X is a Banach space. Let B be a nonempty closed convex subset of X and K a nonempty closed subset of B . Let $T : K \rightarrow B$ satisfying the contraction condition (2.1) with the property that $x \in \delta K$ relative to B implies that $Tx \in K$. Then T has a unique fixed point.*

By setting $K = X$, $\phi(t) = kt$, $0 \leq k < 1$ in Theorem 2.1, one deduces a corollary in the form of Banach Contraction Principle.

Corollary 2.5. *Let (X, d) be a complete metric space and let $T : X \rightarrow X$ satisfying contraction condition $d(Tx, Ty) \leq kd(x, y)$, for all $x, y \in X$, where $0 \leq k < 1$. Then T has a unique fixed point.*

3. AN ILLUSTRATIVE EXAMPLE

Finally, we furnish an example to establish the utility of our result.

Example 3.1. Let $X = R$ with Euclidean metric and $K = [0, 1]$. Define $T : K \rightarrow X$ and $\phi : [0, \infty) \rightarrow [0, \infty)$ as

$$Tx = \begin{cases} (x - x^2), & \text{if } 0 \leq x \leq \frac{1}{2}, \\ 1, & \text{if } \frac{1}{2} < x \leq 1, \end{cases} \quad \text{and} \quad \phi(t) = \begin{cases} t^2, & \text{if } 0 \leq t \leq \frac{1}{2}, \\ 1, & \text{if } \frac{1}{2} < t \leq 1. \end{cases}$$

Since $\delta K(\text{boundary of } K) = \{0, 1\}$, where $0 \in \delta K \Rightarrow T0 = 0 \in K$ and $1 \in \delta K \Rightarrow T1 = 1 \in K$.

Moreover, for the verification of contraction condition (2.1), the following cases arise:

Case 1. If $0 \leq x, y \leq \frac{1}{2}$, then

$$\begin{aligned} d(Tx, Ty) &= (x - x^2) - (y - y^2) = (x - y) - (x^2 - y^2) \\ &= (x - y) - (x - y)(x + y) \\ &\leq (x - y) - (x - y)(x - y) = (x - y) - (x - y)^2 \\ &\leq d(x, y) - \phi(d(x, y)). \end{aligned}$$

Case 2. If $0 \leq x \leq \frac{1}{2}$ and $\frac{1}{2} < y \leq 1$, then

$$d(Tx, Ty) = (x - x^2) - 1 \leq (x - y) - 1 \leq d(x, y) - \phi(d(x, y)).$$

Case 3. If $\frac{1}{2} < x, y \leq 1$, then

$$d(Tx, Ty) = 0 \leq d(x, y) - \phi(d(x, y)).$$

Thus the contraction condition (2.1) and all other conditions of the Theorem 2.1 are satisfied. Note that '0' is the fixed point of T .

REFERENCES

- [1] A.D. Arvanitakis, *A proof of the generalized Banach contraction conjecture*, Proceeding of American Mathematical Soc., **131**(12) (2003), 3647–3656.
- [2] Ya.I. Alber and S. Guerre-Delabriere, *Principle of weakly contractive maps in Hilbert spaces*, in new results in Operator theory, Advances and Applications (Ed. by I. Gohberg and Y. Lyubich), Birkhauser Verlag Basel, **98** (1997), 7–22.
- [3] N.A. Assad, *On a fixed point theorem of Kannan in Banach spaces*, Tamkang J. Math., **7** (1976), 91–94.
- [4] N.A. Assad and W.A. Kirk, *Fixed point theorems for set-valued mappings of contractive type*, Pacific J. Math., **43**(3) (1972), 553–562.
- [5] I. Beg and M. Abbas, *Coincidence point and invariant approximation for mappings satisfying generalized weak contractive condition*, Fixed Point Theory and Appl., Article ID (74503), **2006** (2006), 1–7.
- [6] D.W. Boyd and J.S.W. Wong, *On nonlinear contractions*, Proc. Amer. Math. Soc., **20** (1969), 458–464.
- [7] C.E. Chidume, H. Zegeye and S.J. Aneke, *Approximation of fixed points of weak contractive nonself maps in Banach spaces*, J. Math. Anal. Appl., **270**(1) (2002), 189–199.
- [8] P.N. Dutta and B.S. Choudhury, *A generalisation of contraction principle in metric spaces*, Fixed Point Theory and Appl., Article ID (406368) **2008** (2008), 1–8.
- [9] M. Edelstein, *On fixed and periodic points under contractive mappings*, J. London Math. Soc., **37** (1962), 74–79.
- [10] M. Imdad, *Remarks on fixed point theorems for nonself mappings*, Aligarh Bull. Math., **22**(1) (2003), 15–17.
- [11] M. Imdad and L. Khan, *Common fixed point theorems for a pair of non-self mappings*, Nonlinear Analysis Forum, **10**(1) (2005), 21–35.
- [12] M. Imdad and L. Khan, *Common fixed point theorems for two pairs of non-self mappings*, J. Appl. Math. Computing, **21**(1-2) (2006), 269–287.
- [13] B.E. Rhoades, *Some theorems on weakly contractive maps*, Nonlinear Analysis Theory Method and Appl., **47**(4) (2001), 2683–2693.

- [14] B.E. Rhoades, *A fixed point theorem for some nonself mappings*, Math. Japonica, **23**(4) (1978), 457–459.
- [15] Q. Zhang and Y. Song, *Fixed point theorems for generalized ϕ contraction*, Applied Mathematics Letter, In press.